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Social Security provides protections

Insurance Protection Date enacted

ÅRetirement 1935

ÅSurvivors 1939

ÅDisability 1956



You Need to Work to Earn Social Security Credits

ÁEach $1,220in earnings

gives you one credit

You can earn a maximum

of 4 creditsper year

Example:  To earn 4 credits in 2015, you must earn at 

least $4,880.   Earning 40 credits throughout your 

working life will qualify you for a retirement benefit.



Full Retirement Age (FRA)

Year of Birth Full Retirement Age
1937 65

1938 65 & 2 months

1939 65 & 4 months

1940 65 & 6 months

1941 65 & 8 months

1942 65 & 10 months

1943 ï1954 66

1955 66 & 2 months

1956 66 & 4 months

1957 66 & 6 months

1958 66 & 8 months

1959 66 & 10 months

1960 & later 67



Your Age When You Retire Affects Your Benefits

If Youôre A Worker and Retire

ÁAt your Full Retirement Age, you get your    

full benefit

ÁAt age 62, you get less money permanently

ÁYou get even more money if you work past 

your full retirement age



Computing YOUR Retirement 

Benefit

STEP 1

Wages are adjusted for inflation

STEP 2

Highest 35 yearsof earnings are added 

together and divided by 420 months.

The result is the ñAverage Indexed Monthly 

Earningsò (AIME) ïover your lifetime



STEP 3
The benefit is computed by applying a three tier 
computation to the ñAIMEò

Example (2015:)
AIME = $1,500

90% of first $826 = $   743

32% of next $4,154 ($674) = $   215

15% of remainder ($0) = $       0___    

$   958 S.S.

Computing YOUR Retirement

Benefit



What You Can Expect 

at Full Retirement Age
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Windfall Elimination Provision

WEP Can Apply:

ÅEmployment where no 

FICA/OASDI taxes paid

ÅPension received based on 

this work



WEP Example: 

AIME = $1,500

90%   X first $   826 = $  743

32%   X next $4,154 ($674) = $   215

15%   X remainder    ($0) =      $       0

$   958

40%

$545  S.S.

$330

In 2015, the Maximum Deduction is  ½ 

of pension, but not more than $413.00



Exception to the Windfall Elimination Provision

Years of  ñSubstantial% of First Factor

Earningsò Coveragein Benefit Formula

30 or more 90

29 85

28 80

27 75

26 70

25 65

24 60

23 55

22 50

21 45

20 or less 40 

Our Online WEP calculator allows you to estimate your

Social Security benefit. 


